Model Paper
Class-XII
Subject- Military Science
Time: 2 %2 Hours Max. Marks: 60
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General Instructions:

1-
2-

All questions are compulsory.

Question no. 01 has 15 questions, which consisting of 06 multiple choice questions, 03

fill in the blank questions, 03 one word answer type questions and 03 Assertion-Reason

questions. Each question is of 01 mark.

Questions no. 02 to 07 are very short answer type questions, out of which 02 questions

have internal choices. These are to be answered in 40 to 60 wards. Each question carries

02 marks.

Questions no. 08 to 13 are short answer type questions, out of which 02 questions have

internal choices. These are to be answered in 60 to 80 wards. Each question carries 03

marks.

Questions no 14 to 16 are essay type questions; all the questions have internal choice.

These are to be answered in about 250 words. Each question carries 05 marks.
[Multiple Choice Type Questions] 15x01=15
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Which of the following is not a principle of administration?
(a) Economy of force

(b) Foresight

(c) Cooperation

(d) Unity of control
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2- 5 O DI gg &F @l I | FIed fhar Sirar &7
(%) arg 1 1
(@) e AT Bl
() <A BT
(&) ST & B AT LI
Which army is addressed as the Queen of the battlefield?
(a) Air Force
(b) Infantry
(c) Navy
(d) None of these
3- YRd # TRA] U1 N dar iR Rerd 27?
(@) =g
(@) FeR
(M) g
(8) drERor
Where is the nuclear test range located in India?
(a) Chennai
(b) Bangalore
(c) Mumbai
(d) Pokhran
4- IRT & IeaaR el A6 G Fared AfRHR BT 8—
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The highest officer of the higher defence organization of India is-
(a) Defence Minister
(b) Prime Minister
(c) Chief of Defence Staff
(d) President

5- HIRd EESINE] f&ad dd A9 STl %?

(@) 03 feHaR

(@) 04 faHaR

(1) 05 faHaR

(&) o6 fawaR

When is navy day celebrated in India?
(A)03 December

(B) 04 December

(C) 05 December

(D)06 December



6- IRA # arg FAT ABTEH Faf W’ Rerd &7
(@) T2 faeed
(@) o=
(M) =verTe
(&) BexmETg
Where is the Air Force Academy located in India?
(a) New Delhi
(b) Chennai
(c) Chandigarh
(d) Hyderabad
7- RA BT G JEB < DI AT 57
Which is the main battle tank of India?
8- G000 BT 3MTes gy iy |
Write the motto of NCC.
9- T ¥l 3 dR YD Pl odd B &7
Who is the author of the book ‘A study of war’?

............... is called artillery of section.
11- IR I BT R ..o # Rera T
The headquarter of Indian Army located in ....................
12-9RT @ AT T N ¥ Rerd 2|
The missile test range of India located in....................
13- 3BT (A) — AR IT P TS BIET SHIS Bl 2 |
BRI (R)— $IH dId TeA0THOSHO U BIT 2 |
(@) MfIBAT (A) R HR (R) A I B |
(@) 3rffrperd (A) 3R BRI (R) QHT 3 ¢ |
() AAHAT (A) TSI & Afdhe BRI (R) S ¢ |
(&) AIBAT (A) I ® AfhT HRT (R) T ¢ |
Assertion (A)- Section is smallest unit of the Army.
Reason (R)- It has only LMG group.
(A) Both Assertion (A) and Reason (R) are true.
(B)Both Assertion (A) and Reason (R) are false.
(C)Assertion (A) is true but Reason (R) is false.
(D)Assertion (A) is false but Reason (R) is true.

14- 3BT (A) — IMIF FHT H arg /7 Sfid &) e A S 2 |
RO (R)— Fifd A T g & aRM g A0 Fd5 BRIATE] A H A& & |
(@) NfIBAUT (A) R HR (R) A T B |
(@) arffrperd (A) 3R BRI (R) QIHT 3 & |
(1) fABAT (A) I © <fhd BRI (R) NI % |
(&) AMIBAT (A) NI © AfhT HRT (R) T ¢ |




Assertion (A)- In modern period, Air Force is considered a symbol of victory.
Reason (R)- Because the Air Force is capable of taking action everywhere at a rapid pace
during war.
(B) Both Assertion (A) and Reason (R) are true.
(B)Both Assertion (A) and Reason (R) are false.
(C)Assertion (A) is true but Reason (R) is false.
(D)Assertion (A) is false but Reason (R) is true.
15- 3@ (A) — WA, Sfdd iR RS SRR REORET 3§ & SaeR © |
HRUT (R)—  NRFRETT SRRIRT & AMfed e & PR wed 2|
(@) AP (A) 3R BRI (R) T I B |
() 3rffrperd (A) 3R BRI (R) QHT 3 ¢ |
() AAHUT (A) TSI & Afh BRI (R) S ¢ |
(&) JIMBAT (A) 3N & olfh BRI (R) T & |
Assertion (A)- Nuclear, biological and chemical weapons are examples of conventional

warfare.

Reason (R)- Unconventional weapons are called weapons of mass destruction.
(A)Both Assertion (A) and Reason (R) are true.

(B)Both Assertion (A) and Reason (R) are false.

(C)Assertion (A) is true but Reason (R) is false.

(D)Assertion (A) is false but Reason (R) is true.

[Very Short Answer Type Questions] 06x02=12

2. IR A= 169 & BIs &l Sgay farfay |

Write any two objectives of the Indian Military organisation.
3, IRART AT @ gl =R umgfeadt & A forfag |

Write the name of any four submarines of Indian Navy.
4, wafad <ol @1 faRmang faRey |

Write the characteristics of armoured crops.
5. AMfed O & BRORIR B9 87

What are the weapons of mass destruction?
6. URITRIDHRT HH H B A e Bl 57

Which platoons are there in an administrative company?

Or
TR I A AT BT R
Write the units of Territorial Army.

7. g=ere] 1 ufafeard fafay |

Write the reactions of atoms.

Or
I Do HR & Igavd foIfRay |
Write the aims of NCC.




[Short Answer Type Questions]
8. TR & drs oW figia faRag |
Write any three principles of administration.
9. YRT & CUfT &l STl wrfadar foRau |
Write the emergency powers of the President of India.
10. SN SR @1 g faRwarg forRay |
Write the main features of the corps of engineers.
11. U9SE! & BT BT qU DI |
Describe the functions of submarine.
12. ARAR IRGHAT &I HHASI BT a0 B |
Describe the commands of Indian Air Force.
Or
AT JReT 9 & T Hrd forfaw |
Write the main functions of Border Security Force.
13. ReT @1 fgeliar fad & arra I o 879
Who comes under the second line of defence?
Or
AR & A & MR R ARgal &1 afinror S |
Classify missiles on the basis of strike distance.

[Essay Type Questions]

14, Ut 91 91 faRivareti 3R Sl &1 9oi= $Hiforg |
Describe the characteristics and disadvantages of Infantry.
OR
RA & oAk &l FI6d & ARAT HIY |
Explain the higher defence organization of India.
15 R aRET & faA &) fRivarg 16 yasri @ faae Sy |
Discuss the characteristics and types of service aircraft of Indian Air Force.
OR
IRATT AT & BT TR YT SIerg |
Highlight the functions of Indian Navy.
16. 8RR @ aRWIRT PIY 3R gAD! fARATRI BT gl BT |
Define weapon and describe its characteristics.
OR
RIS Bl faRIamall 3R Il T o BIfoTY |

Describe the characteristics and disadvantages of rifle.

06x03=18

03x05=15
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General Instructions:

1-
2-

All questions are compulsory.

Question no. 01 has 15 questions, which consisting of 06 multiple choice questions, 03
fill in the blank questions, 03 one word answer type questions and 03 Assertaion-Reason
questions. Each question is of 01 mark.

Questions no. 02 to 07 are very short answer type questions, out of which 02 questions
have internal choices. These are to be answered in 40 to 60 wards. Each question carries
02 marks.

Questions no. 08 to 13 are short answer type questions, out of which 02 questions have
internal choices. These are to be answered in 60 to 80 wards. Each question carries 03
marks.

Questions no 14 to 16 are essay type questions; all the questions have internal choice.
These are to be answered in about 250 words. Each question carries 05 marks.

Q. No. | Value Points/ Answer MM
Multiple Choice Type Questions 15x1=15
1(1) for=foRaa & & wemas &1 &9 a1 Rigia A 87 1
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Which of the following is not a principle of administration?
(a) Economy of force

(b) Foresight

(c) Cooperation

(d) Unity of control

Answer- (d) Unity of control

1(2)

el ST 91 4G 87 B < S G fpar o 87
() arg & @1

(@) Yt 9T DY

(1) AT BT

(&) 3% A B o T

SA— (@) dgd 991 B

Which army is addressed as the Queen of the battlefield?
(a) Air Force

(b) Infantry

(c) Navy

(d) None of these

Answer- (b) Infantry

1(3)

YRA H URAIY] Y& NSl dal uR Rerd 27?
(®) o2

(@) dreiR

() g

(&) GREROT

SAR— (&) drErRT

Where is the nuclear test range located in India?
(a) Chennai

(b) Bangalore

(c) Mumbai

(d) Pokhran

Answer- (d) Pokhran

1(4)
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The highest officer of the higher defence organization of India is-
(a) Defence Minister

(b) Prime Minister

(c) Chief of Defence Staff

(d) President

Answer- (d) President

1(5)

IR | AT fead e F9=™IT STl é?
(@) 03 feHaR

(@) 04 feHaR

() 05 faHaR

(&) 06 faHaR

JSav— (@) 04 fedaR

When is navy day celebrated in India?
(A)03 December

(B) 04 December

(C) 05 December

(D) 06 December

(E) Answer- (b) 04 December

1(6)

YRA H drY A1 ABIGHl el UR Rerd 57
(@) T2 faeed

(@) ==

(m) =verTe

(€) eI

IR— (&) BSRETS

Where is the Air Force Academy located in India?
(a) New Delhi

(b) Chennai

(c) Chandigarh

(d) Hyderabad

Answer- (d) Hyderabad

1(7)

YR BT = JgD cb b Al 67
ITR— IS

Which is the main battle tank of India?
Answer- Arjun

1(8)

TA0T0HT0 T AT AT forlRag |
ITR— THal 3N I |
Write the motto of NCC.

Answer- Unity and Discipline




1(9) T ISl 3% dR JRIP BT odd DI 27?
SIR— i e

Who is the author of the book ‘A study of war’?
Answer- Quincy Wright

1(10) IFIT BT QIO .o BT HEA T |
JITR— Yelo THO il

............... is called artillery of section.
Answer- L.M.G.

1(11) RATT AT DT JEATY oo H Rerd 2|

IIR— T3 ol

The headquarter of Indian Army located in ....................
Answer- New Delhi

1(12) YR I RIS S N o H Rerd 21
ITR— AIIYR (ISTT)

The missile test rangeof India located in....................
Answer- Chandipura (Odisha)

1(13)

AP (A) — TR FT B FIH BIET SDTS BT ¢ |
HRUT (R)— $HH Bacl Y0THOSTO YU &Il 2 |

(@) 3NABAT (A) R BRI (R) SH TF € |

() 3BT (A) IR BRUT (R) SFT 3 2 |

(M) AABHAT (A) I & AT HRT (R) 3 B |

(@) IMHAT (A) 3N & offdhd BRI (R) I ¢ |

IA—(T) AMTHAT (A) I 2 fbd HRUT (R) 3R B |

Assertion (A)- Section is smallest unit of the Army.
Reason (R)- It has only LMG group.
a. Both Assertion (A) and Reason (R) are true.
b. Both Assertion (A) and Reason (R) are false.
c. Assertion (A) is true but Reason (R) is false.
d. Assertion (A) is false but Reason (R) is true.
Answer- (¢) Assertion (A) is true but Reason (R) is false.




1(14)

IABHAT (A) — IMI® T | arg 1 Sfid &1 elldd AF ST @ |

PRI (R)— R I A1 g P R dg T F G4 HrIare!
PR H eI 2|

(@) AfAPHUT (A) 3R BRU (R) T I 2|

() 3BT (A) IR BRUT (R) SFT I 2 |

(M) AAFHAT (A) I & AT HRT (R) 3 B |

(@) AMABHAT (A) NI B AfFd HR (R) I 2 |

SR—(P) AP (A) AR BRUT (R) 4T I 2 |

Assertion (A)- In modern period, Air Force is considered a symbol of
victory.
Reason (R)- Because the Air Force is capable of taking action
everywhere at a rapid pace during war.
A. Both Assertion (A) and Reason (R) are true.
B. Both Assertion (A) and Reason (R) are false.
C. Assertion (A) is true but Reason (R) is false.
D. Assertion (A) is false but Reason (R) is true.
Answer- (a) Both Assertion (A) and Reason (R) are true.

1(15)

BT (A) — TRATY, Sifdd AR WG BERIR IWRARETG g
% ISR ¢ |

PR (R)— AIFRATT BRI &1 AMfeds O & R &ed
gl

(@) AfADHUT (A) 3R BRU (R) T I 2|

() 3BT (A) IR BRUT (R) SFT H 2 |

(M) AABHAT (A) I & AT R (R) 3 B |

(@) AMABHAT (A) NI B AfFd HRI (R) I 2 |

SR— (") AHAT (A) I 2 «fbT dROT (R) G B |

Assertion (A)- Nuclear, biological and chemical weapons are
examples of conventional warfare.

Reason (R)- Unconventional weapons are called weapons of mass
destruction.

(A)Both Assertion (A) and Reason (R) are true.

(B)Both Assertion (A) and Reason (R) are false.

(C)Assertion (A) is true but Reason (R) is false.

(D)Assertion (A) is false but Reason (R) is true.

Answer- (D) Assertion (A) is false but Reason (R) is true.




Very Short Answer Type Questions 06x02=12
YR A= HTSH & Blg &l Igavd foTay | 2

1. 9189 GaRl A GREAT BRAT
2. AMRE URTHT Pl ATARIBATTIR ASART BRI
3. JTdR® Waxi A fAued ¥ IgINT BT 311 |

Write any two objectives of the Indian Military organisation.
Answer-

1- To protect the external threats

2- To cooperate with the civil administration as per requirement
3- To cooperate in dealing with internal threats etc.

ARAT AR DI [Pl IR U=gleadl & M feRkay | 2
IR—

JMSOTTOTHO Hofas], IATSOTA0TH0 fredh!, ATS0TA0TH0 IrRET
JMSOTOU0 STRETT 3Mf< |

Write the name of any four submarines of Indian Navy.

Answer-
INS Calvary, INS Shilki, INS Arihnat, INS Arighat etc.

Harad &l ®l a9y foIfRau | 2
W_

1. Hogd A=l

2. TSI ¥ S{TehHvT

3. IITH ARG &HdT M

Write the characteristics of armoured crops.
Answer-

1- Strong blockade

2- Attack with speed

3- Extreme firepower etc.

Ar{fed a9 & ERER B 87 2
W_

1. URHIY] BORIR

2. Sifd® BfPRR

3. S BRRR

What are the weapons of mass destruction?
Answer-

1. Nuclear weapon

2. Biological Weapon

3. Chemical Weapon




TG HFIAl H DI Al e Bl 27

W_

1. FGICR AR TS

2. HiEPHA e

3. URTET wiieH

Which platoons are there in an administrative company?
Answer-

1- Quarter Master Platoon

2- Medical Platoon

3- Transport Platoon

Or
yTai¥Tes |1 D1 el bl fIlkay |
W_
1. B e
2. gmHIvT e
Write the units of Territorial Army.
Answer-
1- Urban Unit
2- Rural Unit

ORATY 1 yfafhany forRay |
W_

1. ORA] fagued
2. AT Hefad

Write the reactions of atoms.

Answer-

1- Nuclear fission

2- Nuclear fusion

Or

TERT P PR B ey forfav |
JR—

1. ¥Igca AT BT =TT

2. IIJIATET DI ATGAT BT [IDhT4
3. =R T BT
4. Y GRET B YT ST URT HRAT S |
Write the aims of NCC.
Answer-
Building leadership capability
Develop the sense of discipline
Character building
Creating awareness about national security etc.

el e




Short Answer Type Questions

06x03=18

YA & Pl A Rigld [TRaT |

vIfad o) Adegar
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KECHIRSIE
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Write any three principles of administration.
Answer-

1. Foresight

2. Economy of force

3. Cooperation

4. Flexibility etc.

3

YRA & TN Dl AT dbTel ITfdaar forfRay |
IR~
1. STJe0E 352 (IT8Y ATHAV g IMM<ARD MR & FH)

2. AT 356 (T H Gaur-id I fA%hal 8H WR)
3. IJeDT 360 (@ H i HAbe & |HA)

Write the emergency powers of the President of India.

Answer-

1- Article 352 (During external aggression and internal disturbance)
2- Article 356 (During constitutional machinery fails in the states)
3- Article 360 (During financial crisis in the country)

10

SO PR & Yq9 fIrvarg oy |

W_

1. AP & SMAT B FILRAT FHRAT

2. gl BT FIRRAT HRAI

3. TF DI IAY HeRAT DI W BRAT

4. I PIRIGTHD AFTIAT BT 0T HRAT i
Write the main features of the corps of engineers.
Answer-

1- To arrange accommodation for the soldiers
2- To make arrangement for field blockade

3- Disrupting the enemy’s supply system

4. Making warfare maps etc.

11

IIS! @ BIAl HI oI DITOTT |

W_

YT AT BT e BRAT

. ggg ¥ oy @ Afafafedl S R SRAr
. ¥ B JEUl Bl A BRAT

. I3 D GRS Tl U ITHAV FHRAT MM |

A WON =




Describe the functions of submarine.

Answer-

1- To protect the maritime border

2- To monitor enemy activities at sea

3- Destroying enemy warships

4- Attacking strategic positions of the enemy etc.

12

ARATT aRIET &1 HHIS! BT g DIy |
W_

1. UREITe HHi$— 05

2. U3 ®HS — 01

3. Heod ®HIS — 01

Describe the commands of Indian Air Force.
Answer-

1- Operational commands — 05

2- Training command - 01

3- Maintenance command - 01.

Or
AT GReTT 961 & J&F BT BT quid DIy |

W_

AT BT GRETT BT

AT ORI ARBNT AT

IE b FHI AT BT FEANT HRAT

IS & I ANTRG TR DI FEIRT HRAT 3Mfe

oD

Describe the main functions of Border Security Force.
Answer-
1- Securing the border
2- Stopping illegal smuggling at the border
3- Supporting the army during war
4- To cooperate with civil administration during disaster etc.

13

T BT fgdig ufdd & =TT BIF 31Md 87
W_

AT GReET ao

HT03MROUTOTHO

HI03MS0THOTHO

Jmsoiododlo

3IH EH

TIRA AT gof 3T |

2 o




10

Who comes under the second line of defence?
Answer-

1- Border Security Force

2- CRPF

3- CISF

4- ITBP

5- Assam Rifles

6- Sashastra Seema Bal etc.

Or
AR & A B MR R fHensal &1 affeor S |
W_
1. U0 31RO 410 THO
2. THO 3RO d10 THO

3. 320 IR0 10 THO
4. 380 |0 §10 THO

Classify missiles on the basis of strike distance.
Answer-

SRBM

MRBM

IRBM

ICBM

a ks wbd-=

Essay Type Questions

03x05=15

14

oo 9T @ fagdret sk SRl &1 g Hifo |

1. TfreerdT &1 HHY

2. 3P R T of 9 W HeTH
3. HRiEH B =T

4. JRETT B BH M |

5




11

Describe the characteristics and disadvantages of Infantry.
Answer-
Characteristics

1-

Optimum capacity
Self reliance

Land holding capacity
Strike power
Mobility
Collaboration

Disadvantages
1- Lack of mobility

2-
3-
4-

Not able to carry much load
Shortage of work area
Lack of security etc.

OR

YR & Ioad] el TS Pl AT DHITTY |

Ui (Fated JAmf)

Bfdmic &1 grefm |fifa

e H#AT

T AATII— AT [JWIT, el IUre- fIWmRT, e ug
gAY fovmT, A e Feamr fawnmr, &1 AFAl @
famT B

5. WIRH HARI (IS, IR SR AR & T |

Ao bd -~

Explain the higher defence organization of India.
Answer-

1- The President (Supreme Commander)

2- Cabinet committee on security

3- Defence minister

4- Ministry of Defence- Dept. of Defence, Dept. of Defence
production, Dept. of Defence and Research, Dept. of
Military Affairs, Dept. of Military Welfare etc.

5- Head quarter of Armored forces (Army, Air force and
Navy)




12

15

IRAR IR & A @l faRvad ud UeRi &1 faa=-r i |
IR

fereyemy—

. CI8 TAT TGS BRI,

ufdreror fau=

Discuss the characteristics and types of service aircraft of Indian Air
Force.

Answer-

1- Reconnaissance and care
2- Mobility

3- Flexibility

4- Rescue

5- Penetration power
6- Concentration

Types of aircraft

1- Fighter aircraft

2- Bomber aircraft

3- Blocker Plane

4- Reconnaissance aircraft
5- Transportation

6- Training aircraft

OR

YRAT FRAT @ BIAT IR YhTI SIfelv |

JTR—
1. YA TRl Y GRET HRAT
2. faRIy amfdler &= @1 JRem AT




13

No g ko

AT AT DT GRaT

FST HAR VAT BT G AT

SIUTIDIA H ARTRS TR DT AN HIAT
RUTAITCTeh TR Rl

| YR B GRET BT IS |

Highlight the functions of Indian Navy.

16

Answer-
1- Protection from maritime threats
2- Protecting the Special Economic Zone
3- Security of maritime border
4- Maintenance sea communication line
5- To cooperate with civil administration in emergency
6- Conducting strategically war exercises
7- To protect maritime trade etc.
BRRIR BT URAINT PITY R $HD! faRINTreT BT qoiF BT |
W_
BIORIR @1 UR™HTYT—

1.

SIOUHOR0 |eR & JJAR—  BIOYR  IfTER A drell
NIGENICIRCIEIEE

JeReR @B b ATAR— BIAIR JATHHAUT AT GRET DI AT
=

ATFABIS ARHY B JJAR— BOIR a8 AEH & o IR
1 dlc g $I gafe e faemmE 2 |

?L
i

SRl
AR DI X

CESINGI
BIRIR &HdT

CERll

2 S

Define weapon and describe its characteristics.
Answer-
Definition of weapon

1-

2-

3.

According to JFC Fuller- weapon is an instrument with striking
power.

According to Webster dictionary- Weapon is any means attack or
defence.

According to Oxford dictionary- Weapon is a means which has
sufficient capacity to cause injury to the body.




14

Characteristics of weapon
1- Accuracy

2- Range of action

3- Striking power
4- Portability
5- Volume of fire
6- Endurance

OR
RISHe Bl IRl 3R Qi BT o P |
W_
NEST G IR
fereryamy—
1. gReT
2. ggdl
3. BRR A
4. fa=mere ean
5. HAR® &HAT
6. HN &HdT
a9y—
1. 37S H fOU g WR BRIR & H sl
2. PH U DI BRIR &HAT
3. 9l AE H B R H o
4. HH UBR kT
5. TR IS 4 AMDI DI AHbIae 81 3T |
Describe the characteristics and disadvantages of rifle.
Answer-
Rifle design
Characteristics
1- Security
2- Endurance
3- Range of fire
4- Striking power
5- Range of action
6- Portability
Disadvantages
1. Unable to fire at the enemy hidden in cover
2. Short range fire capacity
3. Unable to functions in all weather conditions
4. Low striking power
5. Soldiers getting tired due to continuous lifting etc.
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